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EXAMINATION, 2020 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours 

Maximum Marks : 33 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA 

 Attempt all the five questions. One question from each 

Unit is compulsory. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ¼v½ lekaxh ,oa fo”kekaxh fonyu dks mnkgj.k lfgr le>kb,A 

        3 

Explain homolytic and heterolytic cleavage with 

example.  
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¼c½ vuqukn ,oa vfrla;qXeu dk o.kZu djrs gq, varj Li”V 

dhft,A   4 

Explain the difference between resonance and 

hyperconjugation along with description of each.  

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ladj.k ij laf{kIr fVIi.kh fyf[k,A 3 

Write a short note on hybridization.  

¼c½ dkcsZfu;u D;k gSa \ bldh vfHkfØ;kvksa] lajpuk rFkk 

LFkkf;Ro dk o.kZu dhft,A  4 

What are carbanions ? Describe the reactions, 

structure and stability of carbanion.  

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- ¼v½ fuEufyf[kr ;kSfxdksa ds foU;kl R-S i)fr }kjk iznf’kZr 

dhft, %       2 

(i) 3

H

|

H C ClC

|

Br

− −  
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(ii) 

2

CHO

|

HO HC

|

CH OH

− −   

Show the configuration of the following compounds 

by R-S system : 

(i) 3

H

|

H C ClC

|

Br

− −  

(ii) 

2

CHO

|

HO HC

|

CH OH

− −   

¼c½ fdjSfyVh ls vki D;k le>rs gSa \ mnkgj.k nhft,A  2 

What do you understand by chirality ? Give 

example.  

¼l½ nks vlefer dkcZu ijek.kq okys ;kSfxd }kjk O;Dr 

izdkf’kd leko;ork dks le>kb,A  3 

Explain optical isomerism of a compound with two 

asymmetric carbon atoms.  
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vFkokvFkokvFkokvFkok    

(Or) 

¼v½ T;kferh; leko;ork dk foLr`r o.kZu dhft,A  3 

Give a detailed account of geometrical isomerism.  

¼c½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 4 

(i) vuqØe fu;e  

(ii) flu o ,fUV ukedj.k  

Write notes on the following : 

(i) Sequence rule  

(ii) Syn and anti nomenclature  

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ¼v½ v{kh; ,oa fuj{kh; gkbMªkstu ijek.kq D;k gSa \ 1 

What are axial and equatorial hydrogen atoms ? 

¼c½ cs;j ds fod`frokn dk o.kZu dhft,A  3 

Describe Baeyer’s strain theory.  

¼l½ la:i.k ls vki D;k le>rs gSa \ ,Fksu ds la:i.kksa dk 

ÅtkZ vkjs[k lfgr o.kZu dhft,A  3 

What do you understand by conformation ? Explain 

the conformers of ethane with energy diagram.  
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vFkokvFkokvFkokvFkok    

(Or) 

¼v½ fdlh ;kSfxd ds foU;kl ,oa la:i.k eas D;k varj gS \ 1 

What is the difference between configuration and 

conformation of a compound ? 

¼c½ lkDls ds rukojfgr oy;ksa ds fl)kUrksa dks le>kb,A 3 

Explain Sachse’s theory of strainless rings.  

¼l½ eksuksizfrLFkkfir lkbDyksgsDlsu ds la:i.kksa dk o.kZu 

dhft,A   3 

Describe the conformations of monosubstituted 

cyclohexane.  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ¼v½ ,Ydsuksa eas eqDr ewyd gSykstuhdj.k dh fØ;kfof/k dk 

o.kZu dhft,A      3 

Describe the mechanism of free radical halogenation 

in alkanes.  

¼c½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 3 

(i) vkWDlheD;wZjhdj.k&foeD;Zwjhdj.k  

(ii) 1&,Ydkbuksa dk ,fYdyhdj.k 

Write notes on the following : 

(i) Oxymercuration-demercuration 

(ii) Alkylation of 1-alkynes   
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vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ,YdhUl ij bysDVªksfQfyd ;ksx dh fØ;kfof/k dks 

mnkgj.k lfgr le>kb,A  3 

Explain the mechanism of electrophilic addition to 

alkenes with example.  

¼c½ fuEufyf[kr dks le>kb, % 3 

(i) ,Ydkbu dk ty;kstu 

(ii) vkstksuhdj.k  

Explain the following : 

(i) Hydration of alkynes  

(ii) Ozonolysis  

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- ¼v½ csathu esa bysDVªksfQfyd izfrLFkkiu dh fØ;kfof/k dk 

foLrkjiwoZd o.kZu dhft,A  3 

Describe the mechanism of electrophilic substitution 

of benzene in detail.  

¼c½ ukbVªkscsathu esa ukbVªks lewg ,d fuf”Ø;dkjh lewg gS] 

le>kb,A  3 

Explain that, nitro group in nitrobenzene is a 

deactivating group.  
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vFkokvFkokvFkokvFkok    

(Or) 

¼v½ gdy dk fu;e D;k gS \ bldh lgk;rk ls 

lkbDyksisaVkMkbfuy ,uk;u dh ,jksesfVd izo`fŸk dk o.kZu 

dhft,A   3 

What is Huckel’s rule ? With the help of this 

describe the aromatic character of cyclopentadienyl 

anion. 

¼c½ ÝhMy&Øk¶V vfHkfØ;k dk fØ;kfof/k lfgr o.kZu 

dhft,A  3 

Describe Friedel-Craft’s reaction with mechanism.  
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